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Abstract

Problems involving arithmetic progressions are of interest in number theory,
combinatorics, and computer science, from both theoretical and applied points of view. In
2004, Ben Green and Terence Tao proved that the sequence of prime numbers contains
arbitrarily long arithmetic progressions. However, it is difficult to count the number of
arithmetic progressions with k terms for a sequence of any type. Most existing results only
estimate the lower/upper bounds for the number. In this work, we try to count the exact
number of arithmetic progressions with 3 terms (3-AP in short) that are contained in the
block-generated Thue-Morse (T-M in short) binary string. A block-generated Thue-Morse
binary string starts with a block B and is always appended by the Boolean complement (B')
of the existing string at the end recursively. The truncated T-M sequence cuts off a shorter T-
M from the beginning and therefore the resulting string is no longer of a T-M type. The block-
generated T-M binary string replaces 0 and 1 with a generator B and its Boolean complement
B', where B can be any binary string. By observing an important symmetric-across property
from the particular string patter BB'B'B, we discover an amazing result that the number of
3-AP not completely contained in the first half B B' or the second half of B'B is half of the
length of B, regardless what content in B there might be. This property can be applied
repeatedly to give the formula for the exact number of 3-AP in the truncated/block-generated
T-M binary strings. The results depend only on the length of string B, but not the content of
it. Some other extensions of the symmetric-across property on BB'BB'BB'BB', for example,

can be likewise discussed to deepen our findings.



- WF

E A LTS TE S AN, P

R — (FMraparma). Lr e, AimEs -7 n BESLEE w LEFAARMEES
FAEER BEENE -G BERACTUNERAEA. A RECEE T, RIITUREH L4
"k ERMRAE T AARE S (AT AL F-AP)?

BEIRW, RAMER RERE (AEREE) RE IBEEE BRAAMZFEHNTAL T BEE
Brlavan, . BBRNE AP, bt 3 EMERBAR LR e mE AAEE 1,2 318
MEHALEZE £ 1,30 BMELEEE, § 4,6 8ERELGE, £6, 7.8 BMELSE, &
7,8 9EMEAGE UK Z2EZHZ2a888 R, TR S mtapEEeE A 3 #RM
fa—the) e E. R gE s M Enae—BEST {(1,2,3),(1,3,5),(4,6,8),(6.7,8),(7.8.9)}.
—ERW, r e n AREHFEFTER A AHHE-AZ AT ENERNRR &MAER
GIEE . ARt —xE[1,4,2,5 3,6 LA HEEAAE BR S HAeETE, MIE
MR BE. AR A T EHENHE, BEREECH FPEEH A w Ry, HILERAR
ooyt B e T

B = CRAERTHEA). A 2 #E. A —{EE &4 Thue-Morse # &% (3% 58 £\ 2|
+—) Eeg, £ U3 EaRMRMEMERE ) (3-AP) el sk{E 3.
(—) BEERRAMR

WRRMBE - ARAAETHHES O R L SERAHEETAREBET @O R 1 oHF
oz AR TERE AR aaad ) HEAT 000101111 BT $. £, R LK
oy AT —EEE L HE:

Zh = (HeTE) REAWHBEFSAE B=Ub- b, EF b B0 %1 KMA B k&
T B #hF e ERE n.

—EEEFEREET —HRBEREENEES A AN Thue-Morse 8 & F # 231, HIIL
& CAF 69 F B R4

BE W (FhE). 2 A=0100 0y, B=Diby-- b, BRERETHH m, n e F$, T
HFABBEEERLX m+n B EFTE aias---aybiby--- by,

R E (Z#TH). 2 1=00=1%B=bbb, Hh—BEEA N ELTE AEE

B=0biby---b, B BiAikkeFT$
B K (BBEFTH). % B=bby b, HRIATH B=buby_i by & B ¥EE T &
Bt (FFH). 5 B=bby by, HRIVER B(s, 1) =bgbsy1---by1by B BYFF &
BT A6y F B8, BT AL BR @R T E — F 74 Thue-Morse F #$:
8 AN (p R#ER Thue-Morse & T,). 4 To=1, BHNAHHEEH p, &
T, =TT (1)
BEESA 2P 8 Thue-Morse B & F %



B R, Ty = 10, T3 = 1001, 75 = 10010110, 7y = 1001011001101001. & — B 44 &9 18 BF %}
JE 1.
Seoh, R R AT S B 29 A4 B 89 Thue-Morse # &, % F 49 3-AD 83,

& Ju (8885 Thue-Morse F % T, ). ¥ Thue-Morse & 1, £ATHN @ 290 <g<p—1)
18 7T WA 510 ¥ 7 8, S ATAE B BET e Thue-Morse F 8 1,, = 1,29+ 1,2%). EoiREH
27 — 29,

Medb 2 b, do R A28 Thue-Morse — BT &, # 1 R —ME— Ky XF B, BAHA

Thue-Morse @B MM T REMRE RES B -2 9F 5, SHRGFTERMBE KL
Thue-Morse # &, 5 &

R& + (—#ziey Thue-Morse 8 M,(B)). 4 Mo(B) =B, % —BEE% |Bl he &35 i
HINFRA W EES p, TR

My(B) = My 1(B)YM, 1(B) (2)
BEEY |B|- 27 #5—#1 Thue-Morse # &5 & .

AR EZT, T, = My(1). shsh, HAT B, M,(B) 2% 1, P80 1348 B, @ 0 448 B
oy . B gir, To = 1001, B =010 #3%, 338 My(B) = BBBB = 010101101010.

HERATE T,, 92 &, RIAVETAZE & B — b od 48 Thue-Morse F %, Bp M, A& 337 @
— Bk |B| 278 My(B) PR FogF5 % M,

ZHh +— (—#H1eg Thue-Morse 2% M,(B)). M, (B) = M,(B)(|B|-27+1,|B|-27). f—#&
1L# B Thue-Morse Fd R E A |M,,[(B)| = (2 — 29)|B|.

T R R, RIMA T 85| 2

—

51 += (5 8#%435). B—B, B—B, AB—pA.
WM EW, SEAEST R MRRER T, RS ASME T EEE TN T, 68

{7

RE ‘= Fp g, 1,=T,, &p /'E?%ﬁ Ty

Proof. p & # EahdEi ¢ N

#p=18Ty=10,T, =01, T\=01, Arzd Ty =01 Tl_ 0l. 3k p =k, k & F BRI, B
— __

AR =T Fp=k+2 85 REFR(DKRMEH Te = T Thn = LT, Bk,

— YT e [
Ty =0T 0T =TT, T, T =T, T, T}, Ty = T, 1T Ty = Ty

p ABE A
-

&p=2 El 13 = 1001, Tz— 1001, Aot To= 0110 = Th. M3k p = k, b A{BBEF R, LRAR
<_
Ty=T;. =k+2 8%,

T
Trro =TT W =T T T, Ty = T T T Th = Thoro

[l

BETR, ATHEMEAEGBRAALE 3 EHB— RS0 E, LA 1 &0 HRE 3 BERR—4#H%
B E, EHheF



RH +w (3AP). % B =bibobs by, S RFH (1,0 + d, i+ 2d) R b = big = biyoa, AR
s (i +di+2d) B B #y—4817E & 3-AP.

B —ERLEF P B & LR Rk, R R AD(B) BREKATE B ¢
B 3-AP #ad:

A +E L B ¥ 3-AP @RI AP(). 3% B = bibaby - by,
AP(B) = #{(i,1 + dyi + 2d) | b = bjsg = biogg, i,d € N}, (3)
Bwe e AP3(B), #MF ST 6y € £E
KE o (D, B2 2AP ARE). AP(B) — APy(B) = AP(B)

Proof. #f##REERAFS -1 HENAGEREZME OB Lo R ((i+d,7+2d)
;EE"_’]EJ By 3-AP, f83% by = biyq = bijoq = s, ﬁE)@L by = biyqg = bitoqg = 8, AR (t,0+d,i+2d) &
& B8y 3AP, R 28K ATl AR(B) = AP3(B).

—

4 A =B=ayay--an, HAH a; = bnﬁ»lfj:_'ﬁu% (2,1 +d,i +2d) & B & 3-AP, ﬁﬁ@ﬁfﬁ@ﬁ
(ntl—i—2dn+1—di—dntl—i) 2% B & 3AP, Rz F%. Wik, AP(B) = AP(B). [

ot BABRTRESFAGBRP, FEELEFH 3AD, A THHEATERS 3-AD, A
B A AP(|) BEARLESFES | pREERSNEE AP Al

E.& +"l: (%‘l’-ﬁ—%}@_é{] 3-AP &Jﬁ AP3(|)). {Fi%k)rt A= a1Qg > Quy, B = b]_bgbg* . 'bn: C = AL =
€162 Cgn. K AR

AP5(A|B) = #{(4,i + d,i +2d) |c; = civag = Ciyaai,d € N i <m,m <i+2d <n}l,  (4)
w3t HE A E e 3-AD A8, KITEH AT 6y 5] B
38 A (BEHE).
APy (AB) = AP3(A) + APy(B) + APy(A|B) (5)

(=) XAWARARFMELRARHE
foeATHy 2016 EEIRARSEE T, H6 T, 09 F & 3-AP i 5, F B RE A
RE R (1, th 3-AP ).

AP (T,) = 4772 — 9772 = % (r® — 4n) (6)
Hfn=2 47T thF SRE. BRI 7] T £ Preliminary 4, €& E330 88 — 2.
ZHMBRERFTELEEP, RAALTELEL A7 20X EOHFS 1,, 89 3-AP E#,

RA =+ (T,, = T,(27+1,27) 4 3-AP 440).

APy (Tpp) = 4772 —2.2772 41, (7)
8 1
APy(T,,) = 472 - 3 272+ 6(9 +(=1)"), (8)
327145 6 — (—1)rta

APy(T,,) = 4772 PR 2972 2 < g < p. (9)

3



AP 4 BB — 8 AT

#W —— (7,,=T,(29+1,27) oy 3-ADP s — 42 X).
APS(Tp,q)
_ 5w 32
3

B[] RSHHHE 0<qg<p.

AR ACRAL B TR A R, MBS E T A

AR ER R, A HMEE Thue-Morse — Bl 5 d, RREAN 1 FhHREEBTE,
G mA—fzuyE s B #eFE, B A Thue-Morse ¥ Ji 4, Sm-TUERE EES |B|- 27
49 —#24t Thue-Morse F & M (B). #E@8 8 REe B, 48 L FEE 3-AP @He B
B % e — 1838 K

RE —+= (—fzioty My(B) 64 3-AP B3 Em). #2042 E88,
APy(My(B)) = 2AP(M,_y(B)) + 2°*7°|B|?, forp >3, (11)
HE Bl %D s7FRAE.
BB ERMEHEE
RE =+ = (— MMty Thue-Morse M,(B) ¥ &) 3-AP M%), #3FZ p >3, AIH

6+3- 2179 — (1 - [27D(=D)" 5
3

— 4p2

.9p-2 + [4‘?*2] + (10)

AP(M,(B)) = 42BP —(BP - |AP{BBEB))2" 12
— o (e (e PEOEEE )

Bih, EREHE, BB T, 895 X, f2— A8 Y Thue-Morse 38 M, ,(B) ¥4 3-AP
BB MH T

8 —+wg (—if# e Thue-Morse F & ¥84 3-AP M%), FA4MEHE
F(n,m,p,q) (14)
= (2772 — 297 )p)? p 20l ¢ % ((m—nn+4) 222+ (n(n—2) —m) - (—1)FH?.20°2)
A2 <q<p, HIFH
APy(M,((B)) = F(|B|, AR(BBBB),p,q) (15)
i q=1, 3-AP #H § 4 —HFERH:

APM,a(B)) = F(B|,APBEBE). ) — y (APBEEE) ~2- AP(BE) - [|BF) 19

L
g
ﬁl'fé{'ﬂ q = 0 < Yo 5%, 53?/’??5#7??;5_1,5 a1 = APg(B) — APg(Ml)o(B)), o — APg(BBB) —
APy (My(B)) & a3 = AP3(BBEBBEB) = APs(Ms(B)) £ 8 # 05
AP3(M,0(B))

1 1
— ¥JBF+6@%‘4M+JMEWW2+15E*4%+Q%‘Q%) (17)
1
+E(3‘B| - 4(11 + 6@2 — 2@3)(*1)1‘]

R AE, EL B=1 8 M/(B)="T, tiF2FE -+ mm ¢538 1,, h s, kL 2E =
+



= Preliminary

w7 Thue-Morse F & T, #9##51%, AP(T,) T o9 0 B%, ToRA P o E 277 — 58,
B —+E. 54 AD(T,) F, fr1HEGe 3 AP, (4,0 +d, 0+ 2d) B0 TF 8 548

o FERTEI B i+2d < 277N R (Gi+di+2d) BT, R LRERE 3 — AP, k5w
3— AP Z#4 T, | ey BmAEHSE AP(T, ).

o HHREI: Bp <, A (i tdir2d) BT, 95 1TERE & 3- AP RriE{E 3 - AP
REAL T, 1 Foy. h5E+ o F b EAESE R AR(T, 1)

o BAAR L, — BB EI: it d< 2 <it2d, B (i ditod) A T, e 11
MR 3 AP AEAE, AT AP A RELEE T, | ey, Bk AL EE
T,: #.

. AR, MBS i< <t d AME (it dit2d) AT, e IV HEA
63— AP, ABAE, il 3— AP B —BARAE Tyy Foh, RAERBERE T,

#omn T,=T, £ T, #ia%h IV H ey 3-AP $£2 &% [11 3% &) 3AP #8487,

B BB o, /AT SAAE B 2L T a8 K

APB(TP)
= APy(T, 1)+ APs(T,1) + APs(T, 1 |T, 1)
— 2AP(T, ) +2- (% 11l 38 & 3-AP #8) (18)

BB I 3B ey 3-AD # B EME. b, REBEA d P oBFERRTHEE.

(—) d-PrEF]

BTiE AR F 8 1L@E G, #4108 AP, vwatifog (2 2241 dmaE
PR o) WH, BT AR d A E RASE —EEAR 4 1 <d<27 KMHE
T, #%TFHFAEF AtardE T, TR Ed AR AETOGUAEHR i E T, B E
B TFThAS AL P CHEATHS. dWE dEAFL—7], 5 P EATAE B B4 F 3 e, g
HB—mAnEA d WA AP AR T ERBRTFEFORAR, TN E d BEHF
ABHET], #52 A d-F o HEF.

d bits

T 5111 5
cor Jbop-1ogyg v tae-i g

t2p717d+1 \ /t2p1d+i tgpfl
L . \tzp—1+i N T

Eid

Tp,]_ tzp—i_l_l

bop—14441




EEHAFEEEER, KA d R— LM% d BT 0 LR LHEEGERT AT

RE =t (¥ oHg). #$0 T, sMEeFd, oy dFoafME iR Opd @

4B
Tp(max{1,2°7t — 2d + 1},2771 — 4)

Clp,d) = Tp(max{l,22°t — 2d 4+ 1} +d,27 1) (19)
Tp(max{1,2771 — 2d 4 1} + 24,2771 + d)

BTHEE AR(T,) W HEZHA G 3-AP, FEAXEEF M Clp,d) ¥ & 1 K4 0 w478
N(C(p,d)), £ N() 28 STk LH HER T 2 1 £ 0 694735 KMEHN N() BEEHH AU
T3]

INE =t . d POHALH  SEH AERTS ] L0873 N(Cp,d) =N(Clp,d) =

.<—

N{C(p,d)).
318 =\ wF Clp,d) £ Clp,d) #EFFZH A N(Cp,d) = N(C(p,d)).

BREEREE MBS EA, AMERARBEE. REBAR T, T4 111 5 3-AP 4,
Bp & BT e £ d i i

2p-l
%1 MF & 3-AP #8 = Y N(C(p,d)) (20)

d=1

8 N(Cp,d)) REMEZHTURE. #1848, BA Thue-Morse 3 & #5435 7 &, S AIFRER L 2
BRI Bkd=2"—51<s<2"" FRXQORTUSMER L T 6 mBRR s F
1] ) Jm 58

p—1 21@71
% 11 HF & AP 38 = > Y N(C(p,2*—s)) (21)
k=1 s=1
BB, BV RHRE Gk Bos, F3tE N(Clp, 2" — ). A2 fef it 3-AP et it R
HANEHR T Clp, 2" — 5) ey AL RiEEE R

(=) ABEixgasn

RGBT e SRR R R R RS |
BABREE R B RORT ABEAE k=p— | BN AORS, o f BB
HEEAM. A2 AR P SHIRd=2" s HHE Fh=p1,1<s <2228

W, Bod oo A

[ T,(max{2* —2d +1,1},2% — d)
N{C(p,2* —s) = N T,(max{2% — 2d + 1,1} + d, 2%) (22)
( T,(max{2® — 2d + 1,1} + 2d, 2% + d) ] )
- Tk(lrs)
- N Th(2F — s+ 1,2%) (23)
| TR(2F— 25+ 1,2% — 5)



Ti(s+1,25) ] [ Tho1(28 4+ 1,254
ABB(k,s) = Ti(1,5) ABB'(k—1,8) = | Te 1(s+ 1,281 —5)
| TR(2* — s 41,2%) | T (1,250 —2s)
[ Tu(s +1,28) | [ Tp_1(25 + 1,281
AAB(k,s) = Tw(1, ) AAB'(k —1,8) = | Tp 1(s+ 1,281 —5)
| T(2F — s+ 1,2%) | Tha(1,25t - 2s)
 Ti(s+1,25) |  Th_1(25+ 1,281
AAA(R’ S> - Tk(lv S) AAAI(‘IC - 17 S) - kal(s + 1; Qkil — 5)
(2% — s+ 1,2%) | T (1,25 - 2s) |
[ Tu{s+1,28) ] [ Ty 1(2s+1,2% 1)
ABA(;C,S) = Tk(l,s) ABAI(}!C—]_js) — Tk_1(8<|>172k_1 *8)
L Tk(gkfsle,Qk) i i kal(l,gkilfgs)
gk—1 ok—1
ABB(k)= 5> N{(ABB(k,s)) ABE'(k) = > N(ABB'(k,s))
s=1 s=1
gk—1 k-1
AAB(k) = 5 N(AAB(k,s)) AAB' (k)= > N(AAB'(k,s))
s=1 s=1
okt gk—1
AAA(R) =5 N{AAA(k,s)) AAA(R) = > N(AAA'(k,s))
s=1 s=1
gh—1 gk—1
ABA(k)= > N(ABA(k,s)) ABA (k)= Y>> N(ABA'(k,s))
s=1 s=1

Fe 1 AR ARRBRALE 1 K0 GTHAG. FARA: & ERT, AREHGE A A
BUREE A B, w T ' SRR ERE. A4 s AT CEIAH s TR L K0 @47 0w
BOLERREATHENRBE, BT 1, 0,00 $H%A ABD, AAB', AAA, ABA' BUK)



e+ = &I E o HiiF e

Ti(1,5) [ Tp(2F —s+1,2%) ]
N Th(2F — 54+ 1,2%) = N Tw(1,5) (24)
Th(2k — 25+ 1,2% — 5) Tu(s+1,2s)
Fr AR AT &

Th(2F — s+ 1,2%)

(: Ti(s+1,2s) :)
= N Ti(1,5) (25)

Ti(s+1,2s)
ABB(k,s) = { T.(1,5)

Th(2F — 541,25

BFANBIEREF ) 8. WA BT s B, § s <250 BAT 0O Ty A Ty RAF R, M2
FEFIE A s <252 TR F Tioy 89 Ty REGT, RAKRRFE T F BRD4E R

Te_1(s+1,25)
irrk,]_(l7 S)
Tp1(2" 1 — s +1,25h)

ABA(k—1,8) =

M s =282 g% 9147 B

Th g
ABB(, 2% = | Ty,
Th g

= N (ABB(k,27%)) = 272

P s < 2PV BRI S s =252 18 dhek# ABB(k,s) Py T A Thy TRIEAER
ABA(k —1,8') th30 5, SRR R0 30 5

Thp-1(2s' +1,2F71)
Ty (s + 1,281 — &)
Th1(1,2F1 — 25"

ABB'(k—1,¢) =

BTR, St A AERe ABB(ks) T4 1 & 0 6947 8umAe sk, s ABB(k) Rk
T M2 AT e AR AR, KAV T 4R 8] ABB(k) thikim X

zk—l

ABB(k) = > N(ABB(k,s))
— ZZN(ABAU{ —1,8)) + 2%+ 22: N(ABA(k —1,s)) + N(ABB'(k —1,s))

= 2ABA(k —1) + ABB'(k — 1) +2F 2



FTWRERRQERGARE S Lk BFHR, §h=p 2k kecN SR dF BRG]
® 0 4TROK €58

( Tp(max{2* —2d + 1,1},2% — d) ] )
N(C({p,2* —s) = N Ty(max{2F —2d + 1,1} +d, 2% (26)
| Tp(max{2* —2d + 1,1} + 2d,2* + d)
i Tk(l,s)
= N Th(2F — 541,27 ] (27)
| TR(2F— 25+ 1,28 — )
z_: N(C(p, 2% — s)) = AAA(K) + ABA'(k)

e k=p—2k—1kecNug, ZMEH

Ty(max{2* —2d + 1,1},2% — d)
N(C(p,2*—s)) = N To(max{2F —2d + 1,1} +d, 2% (28)
| T,(max{2* — 2d + 1,1} + 2d,2" + d)
I Tk(lzs)
= N Te(2F — s+ 1,2%) (29)
| TR(2F—25+1,2% — 5)

2&*1

> N(C(p,2" - 5)) = ABB(k) + AAA'(K)

s=1
bh, B¥H AP (ESRA LR EAEARER Y | £ 0 /78, @iFRIEBH, HPILE
T ATy

RE —+7 (NERFERD 1 R 0 FHAEELAA).

[ ABB(K)] [0 02010007 [ABBk-1)7 [2¢2]

AAB(k) 00020100 AAB(k — 1) 0

ABA(k) 11000010 ABA(k —1) 0

AAA(K) 11000001 AAA(k —1) 0

ABB(R) | " lo o222 00 0 ABB(k—1) | T | 2+ (30)
AAB'(k) 02020200 AAB'(k —1) k=2

ABA'(E) 2 1100020 ABA'(k — 1) 0
AAAR) ] 2110000 2] [AAAGK-1] | 0

EMERBXANFTRETIVE TR, Gud k=3 8ER (ABB(3) = 1, AAB(3) = 0,
ABA(3) =0, AAA(3) =0, ABB'(3) = 1, AAB'(3) = 1, ABA'(3) = 0, AAA'(3) = 0) &M% 2] T
EAERAERES 1 R0 FHH e — Ak

R =+ (AMMERRERES 1 R 0478 4).

ABB(k) = 2483 1283 AAB(R) = 2.4%3 - 2F3
ABA(E) = 243 9k AAA(R) = 2.4F% k-3
ABB'(k) = 472 AAB' (k) ,
ABA'(kK) = 4% 72 9k2 AAA(R) = 482 - 2F2

(31)

4k72

10



w"iE, HAAERT
RE =4— (T, 05% 111l 52F & 3-AP ¥ 8).

T, 695 III #5/ & 3-AP #t 5 = 473 (32)
PR Z A — T A
APy(T,) = 2AP5(T, 1) +2 473 (33)

mELEXA
(APs(T;) — 47 %) = 2{ AP (T, ) — 47 %),

#HEXERP p=2 BEH AR(T) =2, {80 T R4E 5
AP (T,) — 4872 = —9P 2 = AP(T,) =472 — 902,

th, #AES T RFE A

= BRAFERER

HHEEA 2P &) Thue-Morse 7%, B AHEREH (AR T, =TT, 1), FFAEFTE
EHANE AMCRAENTDN IR RFEAFE. AEHELBFENRE T, aTH 2 B T,, F
%69 3-AP #3 AK — fx /bty Thue-Morse £ & M,(B) #@ AKX EE.

(=) T,y F8#y 3-AP ¥

F8 T, 2#Hx%EE 27 64 Thue-Morse F $ & d2-&k & 27 89 Thue-Morse F % P S iR 69 #5 F
P BBEANTEY BARAATFSSHOHEBHLT AR ARYRY, AHUAHELESRE S
W K5 R ) AT E R R E A £ F & 3AD. R X Bey e, & BN AL 3AD,
(i,i+di+2d) € APs(T,), EEH Iy ardmey 29 F. AL, HA7M 3-AP 4L 89 4 48

(i) % () g =AM BAF £ AT @ 29 F, A i +2d < 29, LS H AR(T,) =492 — 2072
18,

(i) % (i) MASAMEMEHGD 2P 27 F, LR ARPIBH AN AP(T,,) 1.

(i) # (i) o REER, F—B2: F—  FE@AE 27 F, FEMEL 27 3) 297 22 b3
Ai<i+d<2929<i4+2d <2 F—FEARATE Ty POFE L& FoHL F
— A 29 F, o~ A E A 29 3] 291 G, bR 4 <27 27 <i+d <+ 2d <27
-t E Ty P8HFE IVE REBZ+ - P TRLAFERPHEIRS
9. .49t1-3 — 9 492

(iv) % (V) 8RS — B4 20 %, BB =« S84 @ 20 — 2911 o a0 < 29, 2011 <
i+d<i+2d <20 REPE—HENEdEH 29 <d< 2

BT AT BB B3 R R F (iv) 869 3-AP. A T 8B E (iv) 8e) 3-AP, R Bl R A
B, BT dROHF, RBRAU T CHAFBER B ABEARR (F 27 BT AE
20+ 1 A ] oy AR AAR) TFRER IR AR, Bl 27 B 29+ 1 sy P e rkay A

11



(=) % (iv) ME& 3-AP E#
RE 4= (dBoHp)). 437, 3EFE, H#MNERETH dBHFS

X Tp(max{1,27 —d+1},27)
Clp,g,d) = | T,(max{1,27 —d+ 1} +d,27 +d) (34)
T,(max{1,2¢ —d+ 1} +2d, 2% + 2d)

KAVE N E 0B
d=Fk-29—5s
FEd1<s<291<k<2700 I s <290 s> 270 BAVTH d-BosE e d> 2070
BTy R A T ARTE, AL EHAMA Y s 7Rk BeTsti AT ad
Ly E 5L T, B T, B 29 KM AR T, RET

RAZH= (T, 09T, wM TF). % Ty = lity - toe, BIRIMER TF 0 F:

Tq 'ﬁﬂ%tk =1
Tq ﬁﬂ%tk =0

g

Tk—Tp((k—l)Qq—l—l,th)_{

A —Axiety Thue-Morse 8 R ATy mA T, = M, ,(T,).
HAH d-AR B PSRRI o T

Casel: s <291 k=1,d=2"—5s fiE—88 §3B2=+=2#fMeH T,029+ 1,297) =
T, 1,27+ 1,270y =T, Bk, 'Bay d oPed] T 6 A

Tp(max{1,27 — d+ 1},29)
Clp,q,d) = To(max{1,279 —d+ 1} +d,27 + d) ]
| Tp(max{1,29 —d+ 1} + 2d,27 + 2d)
I (s +1,2) T(2s + 1,29)
= 1p(20+1,27 4 5) T,(27 + 5+ 1,29 + d)
| 1,27 +d+1,27+d+5) | Tp(27 +d+ s+ 1,27 + 2d)

Ty(s +1,25) T(2s + 1,29 ]

~ To(1,5) Tyls +1,d)
| T (d+1,d+s) | T,(29M 1,29 + 29 — 29)

T, (s +1,25) | T,(2s+1,2% ]

- Tl,s) | Ts +1,27 )
| T2 —s+1,29) | Ty(1,2¢—29)

= ABB(g,s) + ABB'(q,s)

Fit SA $AP A
271 B 22!
> N(Clp,q,2* —s)) = > N(ABB(g,s))+ N(ABB'(q,5))
z=1 s=1
= ABB(q) + ABB'(g)
= 6.477% 497 (35)

12



Case2: k> 15<29! 78y d & SHEP 7T AL &

Ty(1,29)

To(1 +d, 29 4+ d)
| (1 4 2d, 27 + 2d)
TP(]-? S)

To(1 +d,s+d)

T,(s+1,2s)

To(1 +s+d,25+d)
| Tp(1+2d,s +2d) | To(1 + s+ 2d,25 + 2d) | T,(1 + 25 + 2d, 27 + 2d)

T,(2s 4 1,29)
To(1+2s +d,29 + d)

= [L[M[R] (36)
Ef LM, R &:
T,(1
TQ(17S) {_q( ’S)
L = To(k -2 — s+ 1,k 29) = TrF (1,s)
gatl Cgatl —
Tp(k - 2611 — 25 4 1, k- 2911 — 5) TH (54 1,26)
T,(s+1,2s) TQ(5+—1I_ 1,2s) (37)
M = Tk 204+ 1,k-20+5) | =| 177 (L)
Tplk- 27 — s +1,k-271) L myttLs)
T,(2s+1,29) T,(2s + 1,29
R = T,(k-27+ 5+ 1,k-2911 —g) = | TF (s +1,29—s)
To(k - 291 41k 2970 + 29 — 25) | TFH(1,22 — 25)
RIF ¢ 693518, Case2 TT Bl AT & 2 4157
& q HiBEL,
T,(1
Jatls) 71,5
L = TF(1,s) Tr(1,s)
— k+1
TEt! (s +1,25) Ty (s +1,2s)
Ty(s +1,2s) | [ T,(s+1,25)
q 1
M = [ TE(1,s) LEH(1,5) (38)
THL(1,5) | T;7(1,8)
T,(2s+1,29) T,(2s + 1,29)
R = | TF(s+1,29—5) TF s +1,27 — s)
TF (1,27 — 2s) TFH(1,27 — 2s)
# q BT,
L = T,f (1,s) TH1,s)
—
T;“"‘l (s +1,2s) T§+1(5 +1,2s)
Tys+1,25) T T Ty(s+1,28)
M — i1, 5) THI(1, 5) (39)
TH (1, 5) e, s)
T,(2s+1,29) T,(2s + 1,27)
R = | TFl(s+1,29—5) TF s +1,27 — s)
TF (1,27 — 2s) TFH(1,27 — 2s)

13




BRI =1 Rt =0RANL~-M-RBTHF LE>1,s <27 pREERYNE.

foldn g RABEAF < k<8 #hER T (&

e for k=2

L

e for k=23

L

e for k=4

Lol

e for k=5

Lol

% € B B A 1Eth e )

Tl+ds+d) | T(l+s+d2s+d) | T,(1+2s+d,27+4d)

Tp(1,s) To(s+1,25) To(2s +1,29)
| T(1+2d,s+2d) | T,(1+s+2d,2s +2d) | T,(1 +2s + 2d, 27 + 2d)

[ T,(1,s) T,(s+1,28) T,(25 41,29
TQ(Qq — 8+ 17 Qq) TC](L S) Tpi(l + 5, 29 — S)
| T,(2% — 25+ 1,20 — ) | Ty(29 — s+ 1,29) | T(1,2¢ — 2s)

[ABA(g,s)|ABA(g,s)|ABB'(q, s)]
2-ABA(q) + ABE (q)

T.(l+ds+d) | T,(l+s+d2s+d) | T,(1+2s+d,27+4d)

To(1,s) To(s+1,2s) T.(2s 4+ 1,29)
| Tp(1+2d,s +2d) | Tp(1 + s+ 2d,2s + 2d) | T(1 + 25 + 2d, 27 + 2d)

i T,(1,s) T,(s+1,2s) T,(25 4+ 1,29
TQ(QQ7S+1:QQ) Tq(lvs) Tp(1+512£178)
| T,(2% — 25+ 1,20 — ) | Ty(29 — s+ 1,29) | Ty(1,29 — 2s)

[ABA(q,s)|AAA(q, s)|AAA (g, )]
ABA(q) + AAA(q) + AAA (q)

T(l+ds+d) | T(l+s+d2s+d) | T,(1+2s+d,27+4d)

To(1,s) To(s+1,2s) To(2s +1,29)
| Tl +2d,s +2d) | Tp(1 + s+ 2d,2s + 2d) | Tp(1 + 25 + 2d, 27 + 2d)

I TQ(L S) Tq(i+ 1725) EQ(QS + 17 Qq)
T,(29 — s+ 1,27 Ty(1, s) Tp(l4s,27 —s)
| TL(20—2s+1,20—5) | Ty(2¢ — s+ 1,29) | Ty(1,29 — 2s)

[ABB(q,s)|ABB(q, s)|ABB (g, s)|
2-ABB(q) + ABB'(q)

T.(l+ds+d) | T(l+s+d2s+d) | T,(1+2s+d,27+4d)

To(1,s) To(s+1,2s) T.(2s 4+ 1,29)
| Tp(1+2d,s +2d) | Tp(1 + s+ 2d,2s + 2d) | T,(1 + 25 + 2d, 27 + 2d)

i T,(1,s) T,(s+1,2s) T,(2s+ 1,29
TQ‘(QQ — 8+ ]'7 Qq) TQ(]-: S) TP(]' + 8, 29 — S)
727 —25+1,2¢ —8) | Ty(20 — s +1,29) | Ty1,29 — 25)

[ABA(g, )| AAA(q, ) AAA (g, 9)
ABA(q) + AAA(g) + AAA (q)
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o fork =06

o fork="7

o fork =8

To(1,s) To(s+1,2s) T.(2s 4+ 1,29)
T.(l+ds+d) | T,(l+s+d2s+d) | T,(1+2s+d,27+4d)
| T(1+2d, s+ 2d) | Tp(1+ s+ 2d,2s + 2d) | T,(1 + 25 + 2d, 27 + 2d)
T,(1,s) Ty(s+1,2s) Ty(25 4+ 1,29)
| TR(27 - s+ 1,29 Ty (1,s) To(l+4 5,27 —s)
| T (27— 25 +1,29 — ) | T,(27 — s + 1,29 | T,{1,27 — 2s)

[ABB(q, s)|AAB(g, s)|AAA (g, s)]
ABB(q) + AAB(q) + AAA'(g)

To(1,s) To(s+1,2s) T.(2s 4+ 1,29)
T.(l+ds+d) | T(l+s+d2s+d) | T,(1+2s+d,27+4d)
To(l+2d,s+2d) | T,(1 + s+ 2d,2s + 2d) | T,(1 + 25 + 2d, 27 + 2d)
T,(1,5) Ty(s+1,2s) Ty(25 4+ 1,29)
T,(29 — s +1,29) T,(1,5) To(1+ 5,29 — 5)
| 1,27 — 254+ 1,29 — ) | Ty(27 — s+ 1,29) | T,(1,2¢ — 25s)

[ABB(g, )| AAB(g, 5)| AAA (g, 5)]
ABB(qg) + AAB(q) + AAA'(g)

T.(1+d,s+d) | T,(1+s+d,2s+d) | T,(1+2s+d,274+d)
| T+ 2d,5+2d) | Tp(1+ s+ 2d,2s + 2d) | T,(1 + 25 + 2d, 27 + 2d)

T,(1,s) T,(s+1,2s) T,(25 41,29 ]

Tp(1,s) Tpo(s+1,2s) To(2s 4+ 1,29) ]

TQ(QQ7S+172Q) TQ(LS) TP(1+572Q78)

| TL(27 - 25 +1,27 —s) | Ty(27 — s+ 1,29 | Ty(1,27 — 2s)
[ABA(q, s)|ABA(q, s)|[ABB'(g, s)]
2. ABA(q) + ABB'(q)

G E A RANER]: F g BB, 1<k <S8, T,, & (iv) 3asai s

( 2-ABA(q) + ABB'(q) for k=2 and s<29!
ABA(q) + AAA(q) + AAA(q) for k=3 and s <291
2 -ABB{(q)+ ABB'(q) for k=4 and s < 29!

{ ABA(g) + AAA(g) + AAA(g) for k=5 and s<27!

ABB{q) + AAB(g) + AAA(q) for k=6 and s<27!
2 - ABB{(q)+ ABB'(q) for k=7 and s< 29!
2-ABA{(g) + ABB'(q) for k=8 and s<2¢1

15
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Case3: k>1,20' <s<29 ARERMAE s= (27" +5), RECSMBEFRH 1 ] 201
Bthimzah d hoHEFIIRE A

Tp(1,29)
To(1 +d, 27+ d)

| {1+ 2d, 27 + 2d)

To(1,8") T,(s' +1,25) T.(2¢' + 1,29)
T,(1+d, s +d) | T,(1+d+s,28d+d) | T,(1+2s+d,27+4d)

| (1 +2d, 8" +2d) | T,(1 +2d + s',28" + 2d) | T,(1 + 25" + 2d, 27 + 2d)

= (LN 1t]

MTFHRAMGE 1 <k <8 L%

e for k=2

e for k=3

o fork —4

T(l4+ds+d) | T,(1+s+d2¢+d) | T,(1+2¢+d,27+4d)
| T(1+2d,s" +2d) | T,(1 + 8" +2d,28" + 2d) | T,(1 + 25’ + 2d,27 + 2d)

T,(1,s") T,(s +1,25) T,(28 + 1,29) ]

To(1,8") To(s'+1,2¢) Tp(2s" +1,29) ]

T, (27 — 5" +1,29) T,(1,8) T,(1+s',29— 5"
| T,(27 — 28" + 1,29 — &) | T,(29 — &'+ 1,29) | T,(1,27 — 25"
[ABA(q,s")|ABA(q,s") | ABB'(q,5)]
2-ABA(g) + ABB'(g)

Tp(1,5") To(s' +1,2¢) To(28" +1,29)
T(l+ds+d) | T(l+s+d2s+d) | T,(1+2s+d,2?+4d)
| T(1 +2d,s" +2d) | Tp(1 + 8" +2d,28' +2d) | Tp(1 + 28" + 24,27 + 2d)
T8 Ty(s' +1,25) T,(28 + 1,29)
1,27 —s"+1,29) T,(1,¢) Tyl + 6,29 —5)

| T (29— 26 + 1,29 — &) | T5(2¢ — &' +1,29) | T,(1,29 — 25)
[ABA(g,s')|AAA(q, s))|ABE'(g, 5')]
ABA(q) + AAA(q) + ABB'(g)

Tp(l,s) Tp(s'+1,2¢) Tp(2s' +1,29)
T(l+ds+d) | T(l+s+d2s+d) | T,(1+2s+d,27+4d)
| T(1+2d,s" +2d) | T,(1 + 8" +2d,28' +2d) | T,(L + 28’ + 2d,27 + 2d)
T,(1,8") To(s" +1,2¢) Ty(28 +1,29)

T,(29 — 5"+ 1,29) To(1,5") To(1 + 5,29 — 57)
| Ty(2¢— 28" + 1,29 — &) | T,(20 — &' +1,29) | T,(1,29 — 28))
[AAA(g,s')|AAA(g, )| AAA (g, 5)]

2. AAB(q) + AAA(g)
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e for k=05

e fork=20

o for k=17

o fork =8

To(1,5) To(s' +1,2¢) Tp(2s" +1,29)
T(l4+d s +d) | T,(1+s+d2s+d) | T,(1+2¢+d,27+4d)
| 11+ 2d,8" +2d) | Tp(1 + 8"+ 2d, 28"+ 2d) | Tp(1 + 28" + 24,27 + 2d)
_ T,(1,5) T,(s' +1,25) T,(25 + 1,29
T, (20— s'+1,29) Ty(1,5) T,(1 45,20 &)
| T,(27 — 28" + 1,29 — ") | T — (27 — ' + 1,29) | T,(1,27 — 24
[ABA(g,s")|AAA(q,5')[ABB'(g,5')]

ABA(q) + AAA{q) + ABB'(q)

Tp(1,5") To(s' + 1,25 To(28" +1,29)
T,(1+d,s+d) | T,(1+s+d28+d) | T,(1+2¢+d,29+d)
| Tp(1 +2d,s" +2d) | T,(1 + 8" +2d,28" + 2d) | T,,(1 + 25’ + 2d,27 + 2d)

T,(1,¢) T,(s'+1,2¢) T,(28' + 1,29)
T, (27 —s' +1,29) Ty(1,8) Ty(1+ 5,27 —5")
| Ty(29 28"+ 1,27 — &) | T,(27 — &' +1,29) | T,(1,27 - 2¢')
[ABB(q,5')|AAB(q,5')|[AAA (g, 5')]

ABB(q) + AAB(q) + AAA(g)

Tp(1,5") Tpo(s' +1,2¢) To(28" +1,29)
T(l4+d s +d) | T,(1+s+d,25+d) | T,(1+2¢+d,2?+4d)
| Tp(1 +2d,s" +2d) | T,(1 + 8" +2d,28" + 2d) | T,,(1 + 25’ + 2d,27 + 2d)
_ T,(1,5") T,(s" +1,25) T,(2s + 1,29)

T,(27 —s"+1,29) T,(1,¢) Tyl +6,29—5)
| T, (27— 28" + 1,29 — &) | T, (279 — s’ +1,29) | T,(1,29 — 2¢')
[AAB(q,8')|AAB(q,s")|AAA (g, 5)]

2. AAB(q) + AAA (q)

Tp(1,5") Tpo(s' +1,2¢) To(28" +1,29)
T(l4+d s +d) | T(1+s+d,2s+d) | T,(1+2s+d,27+4d)
| (1 +2d,8" +2d) | T,(1 + 8" +2d,28' +2d) | T,(L + 28’ + 2d,27 + 2d)
_ T,(1,8) T, (s +1,25") T,(28 +1,29)
(205 1,29 T(1,8) | Tyl +5,29—5)
| T,(27 — 28"+ 1,29 — &) | T,(29 — 8" +1,29) | T,,(1,29 — 25)
[ABA(g,s')|ABA(q,s")|ABB (g, )]
2- ABA(g) + ABB'(g)

Ho A b ) 4 A AF B
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g g BABBAPT,,) EREW k&, § il e EEs

( 2-ABA(q)+ ABB'(q) for k=2 and s>2¢!
ABA(q) + AAA{(g) + ABB'(g) for k=3 and s>?2¢1!
2-AAB(g) + AAA(q) for k=4 and s>291

{ ABA(q) + AAA{q) + ABB'(q) for k=05 and s> 2971
ABB{q) + AAB(q) + AAA(q) for k=6 and s>297!
2-AAB(g) + AAA(g) for k=7 and s>2791
2-ABA{q) + ABB'(q) for k=8 and s>2¢1

\

SLAT @AY s < 29 A7 hEF R

MR LA R —— B A EmdaR T, RAR T -HRBEENTE BA
BRimB s, F A L2 AT AR RSB, AT A, B K — AR 47 & 27 ehlad.
kg Emias 20 b A A G R 22 WS R B, ARG RAENERE
IR 2227794929 B E ¥ ik S R EE R, AT AP T B4 RRE HAE BT a9 5 K

APg(Tpaq) = 4p72 -+ (212?72 -+ 622p+q74 -+ Cg4q72 -+ C42q72

BT RfAE RG2S E — p g B EFEE:

g = 0 1 2 3 4 5 6 7 8 9
p=3 1 0 0

p=4 0 7 1 2

p=5 40 14 38 26 12

p—6 225 215 200 174 124 56

p—=7 961 040 010 80 740 536 240

p—8 3060 3027 3864 3742 3500 3048 2224 002

p—0 16120 16044 15018 15666 15172 14200 12368 0056 4032
p—=10 65025 64855 64600 64094 63084 61006 57200 49824 36544 16256

42 3<p<10,0<g<p—-18rA AR(T,,)

EHRMAZEY, BREHTREY ¢ =085 AP (T,,) = (2272 — 1)2. ay#k % R KA 6945 ).
ﬂﬁﬂ_ré" g=p—1 H%‘,APQ,(TP)Q) = APg(Tp’p_l) = APg(Tp_l) = 4P=3 _ 9p=3,

HTR RMAER—MEpeF, g RBHERE, LA AR(Tyy) — APs(Tpq01):

—H¥, REBMARTAES THRELZOMEE, ARk &y p AFHRBE, BEXTRE
P HRAR A BEIRR, 82 p=23,57,99¢=01%%F, £&53 (1,0, (56), (21,30, (85,126)
By — 22 R ATREY p BERMEFEH (2,3), (10,15), (42,63) & (170,225) Ew
B, SHEy =2 b mERSehiE g A, BEKp 958008, RIR§F 8]

« ¢=0,1,p RFH y="7
« gq=0,1,p REH: y="2

o g=1,2,p AFE: y =2z

s g=1,2,p BB y =22 — 4.

o g=2,3,p AT v =2x—10.

18



g = 0 1 2 3 4 ) 6 7 8
= 1 0

= 2 3 2

= ) 6 12 14

10 15 26 50 68

21 30 60 110 204 296

42 63 122 242 452 824 1232

ISERSERSHASHRSHASRAS
I
WO SO T Ty O | QO

85 126 252 494 972 1832 3312 5024

s
I
—_
o

F# % 3

o ¢g=2,3,p ABE
¢« q=3,4,p AT
« g=34,p REBHE:
« g=4,5p &FH#:
« g=4,5p AMBIEC

oh, AR, g > 1
ok

170 255 506 1010 1988 3896 7376 13280 20288

3<p<10,0<g<p- 28589 AP3(T,,) — AP3(T, 1)
Y =2r — 2.

y =2z — 32.

y =2 — 16.

y=2x 112.

v =2z — 80.

Bds, g e 1 B, TE G v =20 —c BYE& . 154 K% — 18— 184 4

« q=0, AP(T,o) =472 271 11

* q:]-:p;%{%ﬁ, APB pl)_4p 2 82p_2+g'
* qzlﬁp%%ﬁ, Apg Tpl)—4p72f§2p*2+%
o q=2,p BABI, AP (T, ) — 4772 — Lop=2 4 2
* g 2: P %‘gﬁ‘g)l(, A.Pg Tp2) — 4p—2 112p—2+ %

* q :37 P 7%4\%&, Apg Tpg) = 4P~ 2 17227*2_1_ %

o g=4,p AABE, AP (T,,) = 4772 — Dop=2 4 8

« q=4,p RFH, AL(Tyy) =472 - 224 1

o g=05,p B, AP,

(
(
(
(
(
« q=23,p REFH, AP(Tys) =472 — Top2 4 2
(
(
(T,
(

_ —2 53ap—2 249
5) = 4Pt Sgpen g 29

o g=05,p HFHH, AP (T, ) = 4772 — Bop-2 4 285

WAk, FE @ ah 1 A,

APS(Tp,q) = 4p72 -+ 612p72 -+ 622p+q74 -+ Cg4q72 -+ C42q72

TR g = 2,00+ =

BN g =4,5 Wi Esk. #4mit g —1 &L;%JUE&’J

19

—L g =30+ 2= -5 Bk, TREF o — -5, 00— —2.
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B, RGO HOR, A S 47 2 R 27 2 il ke, AR EBRAMBEI SRR D
B AIBERE, MBL §HB ¢ OFBHUREMA R EHRGENL. ML g =1 8, H40T U
BB S ignent el Apbeniny—¥ L ®p RBHEE M EE, p 2K
MR, PR EEEEE R

3, (=17

27 %
FRCA, A c3 BRocy —HERRFTH, €87 )P X F£. AU, SRR ROTHBERE
m

(3 + ch(—1)PPDAT2 4 (4 + cy(~1)P9) 2072
PR B 55T AR KA.

8
(eat i)+ (cd+cd) = 3 (42)
(cs— )+ (cd —od) = ? (43)
26
4{cs — cy) + 2(cd — ) = 3 (44)
22
4(ca+cs) + 2(cd +c4) = 3 (45)
E{?&Wl}(%@ﬂj C3 = 17 CIS - 07 Cq = 27 6!4 - _%
H, HAVRAE T AEE R T @y A
APy(T,) = 4772 —2.2072 4 1, (46)
8 1
APT,) = 4% S22 (94 (1)), (47)
.9a-1 — (—1)rtg
APy (T, ) = 4772 — SRl PR + 4777 4 %QH, 2<qg<p. (48)

3
b e A T R+

() —#14b Thue-Morse F 8% M,(B) # 3-AP f#

HinEEk | BeyFE$ B, T4 d Thue-Morse Sequence &)@ G X E#MEEA |B|- 27 093
B.oMlde M =BBBB.. t9F % M 28U FEFES M, = My 1My, 1 8985, T AR A
BEKR1-BRROAERGHFE LBREARSG T, P SRR THEREREMA REMEE
3-AP ey 2 E 0 EE G LB RES m MmAHRE, ArAd 1 Aty E & 3-AP 8
BRE O s Bl & 3-AP 18848 B,

1 FRahR

BREEA M- P MFEEPEAAIAP WALEE 0<d<(m-21 1), L 0<d< (m-2%) &
Bl 3-AP £t B4 i @ e @t AR m, FuUA R 2@ (m-2%) <d < (m- 271 — 1)
B E 6, 3-AP EHEPTH bR S G X B A QS ERE m- 2 FENMGE G 3-AP. B
A EE, RS AP PP~ Ao SRS, U om 2 B ER A —Fn, BRI
EpAm-2 T om0 P 2 R B AP B AR sy 1]
BB IV BB L2 EARESE RN LS 0ERES, EHHHEOEMGHeYs &
STB e, B A oHER SIS A E k2P 3 e MY B ek fB B AP AT A £ a0 SERE B A 0/1
AT, STEE OB RS kAT R o, R B
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#HF 1. % B = 1101 $#£41% % Thue-Morse &% X #3@ g Bz = 1101001000101101, & & TI1
e & 3-AP # 318, mFE IV ERH b @i RME, ERELRN d-FoBFlerE AR F L 48
Bl & 3-AP % = % IV 85 & 3-AP @Eay M &Rk, § 2 ey h &8 — Rty
# ey E] & 3-AP B %t

2 BAFEFSHNEE 3-AP

I 2 AT e, MR REER AP B FERERFE I RS IV AT E PosreE e
3-AP. B — A mAR—ERE L — 1t ABBABB %55 $ER pAF 1R R4
A —Mibe T s B SRR, A TH I ey 3-AP BH R — 2 EnE IV
& 3-AP s, .

Bhas sagle.

<<<<<<<<

ams 12y

B8 B8 B B H B

B H H 8 B B
g

sssss
w

P - -

ssssssssssss k3 o € 10 3 = = o o a a =

0 18]~ 13 0 1] - 11 @ 5 = 15 0 18] 16
L REMugces f(B) &) R R3E
ik, AES % ST 8 &3, BT B B e, 8 1R IV e SAP A
f(B) = APs(B|B) = APy(BB) — 2AP:(B).

WFE B R n ST BEEH TR TRMEES f(B) RByERwE 1 7
HRER, & B 4 Megedid, 38 5 R8s ey, ™ B RABARed, 48 51 KRB £ £ 4745

318 =+w (f(D) 9k KHE). #HBELERR KI5 [(B) RAESEA, HEHETHF
], RA A b7 e ) R
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- #|B| 5% 4 f(B) $pRAMEH (B 1),

e #|Bl=4k+2,k €N, 8 f(B) ssf A B

. # |B|=4k,ke N, 4/ f(B) oA Mm% 15",

BTRAMBEREAS B & f(B), ATHE |B| =4 A

« % B=0011, 0110, 1001, 1100 &%, 8] f(B) =2 & APy(B|B) ¥ & A 8.

« % B =0000, 0101, 1010, 1111 &%, f(B) = 0. 2 &% Eah 3-AP.

« RALMSEN, f(B) =1.
# |B| =6 8%, & B = 000000, 010101, 101010, B 111111 &, f(B) 4. 0. Bk, H47 2045 5]
313 =+ FK. B =bibobs - bon, # by = by, vk, B f(B) =0,

EEEAETES, RAEL LS E

(w) mEfeEeE

—HIE R, RLEEHEREREIEROER BB T — B L R, AT Sl REE]
BB TR —8 f(B) ERER, BRTREE f(BB) M (BF B HR—42ATHGEE, B B
— & RFAMMN). 2R AN —8 B T EEIE S e, a4 |B| ek, f(BB) B &
ABT—E#F 1B AXHATTT! RAXEE FRAXF

RE =Z4+X (RREELE). WwRB ZHBHNMEEFE FEAE D B2 EF %, #

ko
1B) (49)
— AP,(BB|BB)
= APy(BBEB) — 2AP;(BE) (50)
= LIBP 61)

BEAKF-RER, RRAFABRELELETH £ FFRATFARSN BTRITARZIRT
R B R R ey ek, AT LB E A REE L EE A THH SEEE, KK TH
AR,

Bl =2 3¢ EAEA2 REHY, B ATHRHA B~ 11 & 5 — 10 HAEEH. HEHN
7§E'—ﬁs{7 BB|BB — blbgblbg‘blbgblbg ‘:P Faﬁifa"ﬂ'ﬁ‘éiéfji?)—@P fﬁj(bl:bgybl) > (bl,bg,bl) N (bg,bl,bg) N
(bg,by,by). % by = by Bp B = 11/00, Bl 4% (by,02,61) ~ (By,by,by) W8 3-AP. 2 by £ by Bp

B =10/01, Bl 4% (b1,ba,b1) ~ (bo, by, bo) 48 3-AP

22



(Bl =4 % B = bibababy,Ma(B) = b1bababybibabsbibibabababibabsby. ¥ w & 111 3 A 1V 41
& 3-AP oF, AT BB 3-AP s

by: (b1,bs,b1), (b1, bs,by).

o by, by: (b1, b3, b3), (b1, ba, bs), (b, b, bs) (b1, ba, bs).

o bo: (ba,ba,b), (b, ba, ba).

o by, by: (a,b1,04), (ba, by, ba), (ba, bs, bs), (b, bs, bu).
o ba(b, b1, bs), (Ba,b1, Bs).

o bs, bi:{bs, Ba,B1), (b3, Ba,by), (Bs,Ba,B1), (Bs, B, b ).

o by:(bubsbybabsbs.

b4: 523546352, 545152: B451527 E4B3b2-

& by = by B (5159{31): @35153) Wik BEE 3 - AP, B (b1,b4,b3) ~ (ba, by, by) % by # by B
By 4B & 3-AP(D1,by,b3) ~ (b3, 04,b1) & by = by A RME & 3-AP. 3 by # by A (bibsby) »
(babibs) Fda sl 2B & 3— AP, B (by,by,b3) ~ (b3,b2,b1) & by # by B B 40 B] & 3-AP,(by, b, b3)
(bg,EQ,El) 'é." by = by H#]‘%%éﬂrﬂ & 3-AP # by = by BY (525462) ~ (548_)254) @éﬁ_')&/é; Elé 53— AP,
e (bg,blybﬁl) N (b4,bljbg) 'é‘ 5177é bg H%-)‘é{@ﬁ_ﬁ‘]}ﬂ é 3—AP,(b2751,b4) » (bﬁhb]jbg) '?é’ bl - bg H%:,,é]@
ME & AP, Z by #~ by B babybo) ~ (bybaby) WAL B E @& 3 — AP, B (b, b3, by) ~ (by,bs,b2) &
by £ by BB M E & 3-AP,(bz,b3,b4) ~ (by, b3, b2) & by = by A RMEE AP RERRHD
by BR by HAFAE b by HFAFME. BREABRNERIRBEMARME, ZEH 4L
8 8.

|B] =6 4 Ma(B) = bibabsbabsbsbibabsbabsbsbibab3babsbsby babsbabsbs ¥LE A % 111 $¥ % IV 48
B & 3-AP (8%, R Lomay ¥y X, KR T2 b IR b3,0s REME], BT A —8 3-AP.
B BER by B by, b B ERBELE, KR TOMEN 1 272K, 0 A FRERME.

bl bg bg b4 b5 b@
b, 1 0 1 0 1 0
b 0 1 0 1 0 1
b 1 0 1 0 1 0
by 0 1 0 1 0 1
b 1 0 1 0 1 0
by 0 1 0 1 0 1

KA T BERAG®A | BE ARk, B & MR iy Ew— & ¢4 — 18 3-AP.
%% |B| =6 e 80 3, T AR BHAEEZ 4N

Proof. # f5—#% B = bybobs - by, £ 545 BBBB — iy 0y ¥ % 111 38R % IV 5865 3-AP 8%,
HFHEANFEREFT ¢; K conggy 1| <7 <20, BFER—ME canin R Conn, | <k < 2n
WREHEEVE BB L L BARBH. BT R J+ k AASEH LR 20 g9 H R,
# L ELE, £ G E
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o ML -
(€, Catk yony Canth) = (b5, b, b);
LR o
(Cantj: Cate gy Cont i) = (05,031, 01)
BEEWEA, b A b 8, LHERE - R, M ARH —EL 3-AP. BRKMEE
o B2 ) )
(CQTE‘HH C%«l»?m? C4ﬂ+k) - (bj7 c%«l»?m? bk):
LR
(51t g Contr) = (b7, gt gy BR);
iE AR E IR, E b = by B, LR EL—EEH, MARA B 3-AD.
AL R AARMERXFRE, ATALEREEALH AR —ARL LRAKREBE-TEH—
18 3-AP. £ 1 <7 <2n,1<k<2n MmE j+k TBEHEH —18 3-AP. A7, AR 7

1 2 1 2
S ()" = _|B|

[]
holk M, o(B) R—E@Ea T E, RPIREH:
AP3(My(B)) — 2AP3(M,_1(B))
= f(Mpfl(B))
= f(Mpo(B)M, o(B)) (52)
= lMpa(B)%,
= 225 B|2.
FrAwT s B ATHERMH, REp>3, (M o(B)| ~E GBI, BFLEXLTH
APy(M,(B)) — 277 B|* = 2(APs(M,p_1(B)) — 27°| B"),p > 3 (53)

#iBEREEE] p=3, Bledere) AP (Mx(B)) AR, ST Fa 28—+ st n
EEp >3 KA

APM(B) = #2BP - (B] - |AP(BBRE))2 54
— e - 1 (18- 22T ) (55)

4258, R |B| —HHRABI, BAMTRBRER p=2, KB EE AR M(B), 3T A
FRMBEOR KB F:

B =+ (—H#uty Thue-Morse ¥4 3-AP B2 4GHUR). H30EZ p > 2, £ |B| £48#,

AATH
APMB) — @R - (B2 AREB) ) 2 (56)
= e (e AR ) 657)
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(&) —#&At#H M Thue-Morse 8 M, (B) P& 3-AP %

W AR Z AT IE T, A94R8, Fdr T A I SR AR 09 7 A T @ — AR AL BT Thue-Morse 5 #
M, (B) ¥ 3-AP 8%, 5 R B3R L =+ vg.

g= 0 1 2 3 4 5 6 7

p=1 1

p=2 7 3

p=3 41 27 14

p=4 205 177 126 60

p=>5 917 855 746 540 248

p=~6 3877 3753 3510 3060 2232 1008

p="T 15941 15687 15194 14220 12392 9072 4064

p==8 64645 64137 63126 61140 57240 49872 36576 16320

p=9 260357 2509335 257306 253260 245288 220680 200096 146880

p=10 1044997 1042953 1038870 1030740 1014552 982608 020160 801600
FHA 1 <p<9,0<g<T 8 APy(M,,(0001))

q= 0 1 2 3 4 5 6 7

p=1 0

p=2 6 1

p=23 38 25 10

p=4 200 171 122 52

p=>5 906 845 734 532 232

p=06 3856 3731 3490 3036 2216 976

p=7 15808 15645 15150 14180 12344 9040 4000

p=28 64560 64051 63042 61052 57160 49776 36512 16192

p=9 260186 250165 257134 253092 245112 220520 199904 146752

p=10 104456 1042611 1038530 1030396 1014216 082256 019840 801216

EH 5 1<p<90<qg<T 8y APy(M, (0010))

Proof. %i& 2 AT3 5 T, 89 885 R,

APg(Mp)q(B)) = Co4p72 + 6121972 + 622p+q74 + Cg4q72 + C42q72 + 85(_1)p+QQQ72

h Rz g 4P R B ® 2P KR 2 WE B, AMT R =t =k
AP w3 oo BB A B B (pg) A (3,2) 2 (4,2) ~ (5,2) ~ (5,3) ~ (7,4) Al B = 0001 BT 24
EAEAPFE AT AT

64 + 2¢1 + 2¢5 + 3+ ¢4 — g = 14

206+ 4oy +4des + o3+ ey o5 =126

1024 4+ 8cy + 8cg + o35+ ¢4 — 5 = 746

1024 + 8¢y + 16¢o + dea + 204 + 205 = 540

16384 + 32¢q + 128c4 4+ 16e3 + 4y — dog = 12352
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K 37 42 40 64 AR 5T B4 B
(61,62,63,64,65) = (—6, —32, 16,8, —2)
B (p,q) & (3,2) ~ (4,2)~ (5,2) ~ (5,3) ~ (7,4) 8] B = 0010 85T SU4% &4 5428 U F A F

64+ 2c1+ 200+ c3+ ¢4 — 5 =10

206+ 4cy +Hdeg 3oy oy =122

1024 + 8¢y + 8cp +¢3 + ¢4 —c5 =734

1024 + 8¢y + 16¢o + 4es + 204 + 205 = H32

16384 + 32¢y + 128c5 4 16c3 4+ 4cq — dos = 12344

KB 30 T A2 4n Y AE ST LR 3
22 2
(Clz C2,C3,C4, C5) = (737 7327 16787 75)

FAA B FEEE 2 <qg<p LARE |B| 582, 155

. |Bl=2
10 2
B = OO, (ChCQ,Cg,C4,C5) = (*g, *8,4,4, *g) (58)
10 2
B = 01: (61762763764765) = (737 7874747 75) (59)
. |B|=3
13 5
B = 0007(61762763764765) = (737718797 6775) (60)
E = 001, (Cl7 Ca, 63764765) = (*5, *18, 97 6, *1)
17 1
B = 0107(61762763764765) = (737718797 6775) (61)
E = 011, (Cl7 Ca, 63764765) = (*5, *18, 97 6, *1)
« |B| =4
B = 0001, (cy, c2, c3,ca,05) = (—6, —32,16,8, —2) (62)
22 2
B = 00107 (01702703, Cyq, 65) = (—37 —327 16,87 —g) (63)
B =0111, (¢, ¢, ¢3,¢4,c5) = (—6,—32,16,8, —2) (64)
22 2
B = 01007 (61762763, Cy, 65) = (—37 —327 16,87 —g) (65)

d [B] =2+ |B| =3 H41T st ded] oo = —2|B|? ~c5 = |B? ey = 2|B| &8 |B] =4 R AR
FTERENEBERSTS. KRIMBEE S - OURERFTE o~ o BFEEREMB MG, 4
Rdn 63 650 B 64~ 65, WA 2 < g < p BEs APs(Msa(B)) M F, AHAFE 01 o5 G40
AT A AR c1(B) ~ o5(B) AmAAE APy(Mso(B)) &k APy(Mx(B)) 1 Bl ey B 2 R4
APy(BBEBB) s x, ci(B) 4% vy, cs(B) &% =, —HREF S RE B »3#%
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. |B|=2

10 2
B=00x=2y :—g,z:——
10 2
B=0l,r=2,y=——,2=—=
3 3

1 1
y=5(e—12),2=5(-2)

« |B|=3

13 5

B=0Wlzr=8y=—2=—-

3 3

B=001,z=6y=—52=—1

17 1

B=010x=4y=— 2=—=

3 3

B=011l,z=6y=—52=—1

1 1
= (z—21),2=_(3—
y=3@-2),2= ()
+ Bl =4

B =0001,x =14,y = —6,2 = —1
22 2
B=0010,x =10,y = ———,2 = ——
3 3
B=0101,z =8,y =—8,2=20
20 4
B=001l,x=12,y = —,2 = ——
3 3

1 1
Y= g(x —32),z = 5(8 —z)
o |B| =5 5B _E ORI AAE B
1 1
= g(;r: —45),z = §(15 —x)
o |B| =6: {58 L uiHOE T S04 3
1 1
y = g(a‘: —60),z = §(24 —x)

24k B8 A F T ey %a >t~ K, 'Ei‘t RAVER y 3B 2 HR 7 it i 9 7 69
TR, \B\ 2,3,4,5,6 8§ —£ -2 2 & 8 @Ma,ﬁkz.fﬁf%%i&ﬁ P B4 4P =T

? a 3 ?

iy =1z - |B|(|B\ + 4)) ;twéﬁﬁ,%ﬁfrwwuq z=3(|Bl{|B| -2) —z) 43tk

e (B) — ;(A]%,(BBBB) _IBJ(|B| +4))

=(B) = J(BI|B| -~ 2) - ATy(BEEB))

AT A b 144 2 < g < p 3589 3 — AP H#1.
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W AREERRIE

N RAAME S L, KX THZ RAMANHE 3-AD, #E8 LT @ o) WILE, A B
L S

R Z A (w0 % ).
AP,(BEBE|BEBE) — l\BBF (66)

BTRTHG AR, AAH—EES 1 9FF B =biby by, RREHEH 20 6 A
Bl = B{2n+1,3n).

BT R M, (B) #i &4 T ey,
318 =+ (M, (B) 9 K).
My (B) = My 1,(BYM, (B)YM, 1(B)M, 1,(B)
= Mp14(B)My(B)My14(B)
= Mp1(B)My1(B)Mp-14-1(D5) (67)
#F(n,m,p,q) 89K F, AT 2453
2w+ (M, F—HARFIX).

APMyi1,1(B)) = 24P (M o(B)) = 5| My 1 1(B) (68)

BEREE g=p—1 B, BE M, 1,1 =My 1, 0=My 2= K, 5VE My, = Mp, 1 =
Mp I_KK Mp—l—lq—l—l Mp+1p_M KKKK ﬁﬁMTMﬁﬁ-éFﬁ \iE‘J/f.']}% /ﬁiﬁ’?%jﬁ %—Fﬂi
HERWEER g<p— 1 BHEE BRe=p—28, BEM, =0, ELRMIEH

Mp*l,pfS(B) - EEB;
M,, +(B) = BBBBEEB,
M, ,1(B) = BBBBBEBBBBBEBE
E X EE S Mpp 2(B) HERWmE BB|BBBB = L|R, Pk APy (M, , 2(B)) = AP3(L) + APy(R) +
AP(LIR), Bl My 11, 1(B) = RLLR. pish APs(M, ot 1(BY) = APy (RL)+ APy (LR)+APy(RL|LR).
. /ég APg(LR) APQ,(M )p_Q(B)) ﬁﬁ'l/{
AP3(Mpy1p-1(B)) — 2AP3(Mpp—2(B))
= AP;(RL) + AP;(RL|LR) — APs(L) — APs(R) — AP;{(L|R)
= AP(R|L) — APy(L|R) + APy(RL|LR)
= APy(BBBB|BB) — AP;(BB|BBEB) + AF;(RL|LR)

JEE A& R R TP HA T AP(R|L) = APy(BBBB|BB) ~ APy(LIR) = APs(BB|BBBE)
B AP;(RL|ILR) = AP,(BEBBEBEB|BEBEEBB) ##1rih 3-AD th X, @88 ~T LR 43t
H A8 | B2 AR

9 1
AP (Mpy1p1(B)) —2AP(M,, o(B)) = —|B|2 = —|Mp71,p73(3)\2
KA E éﬁ?ﬁﬁﬁfimﬁﬂi ST R B AHFHELEH, REp>3-¢> 2 BERAUE A

APs(Myy(B)) — 5 - (277 = 27| BF = 2(APs(My 10 1(B)),p 2 3,q 2 2. (69)
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AP,(BBBE|BE) APy (BB|BBBB)
(x)BBE  (+)B[BB|B| (\BBB (-B[BB|B
(+)B[BB|B  (x)BBB | (x\)BBB (-)B|BB|B
(9)BBBE  (+)BIBB]B| (BB (x\)BEEB

(+)BB (x) BEB | (\B|BB|B (*)BBB.

##% 6: AP, (BBBB|BB) & APy(BB|BBBB) ¥ s 1.4t 3-AP

(1)BBB  (1)B|B ]B (2) BBB (2) BIBB|B (3) BBE  (3)B|BB|B
()BIBB|B  ()BBB (2)B[BB|B  (\\BBE  (3) B|BB|B (3) BBB
(9) BBB (4)3[2 ]B (1) BBB (8) B[BB|E  (5)BBE  (5)B|BE|B
(6)BIBB|B  (4)BBB_ (9)B[BB|B  (8)BBB  (5) B|BB|B (9)BBB
(5)BBB (T)B[BB]B (1)BBB  (6) B|BB|B  (9)BBB  (4)B|BB|B
(7)BB (7"BBE (6)BI[BB|B  (2)BBEE  (6)B|BB]E  (8)BBEB
## 7. AP,(BBBEBB|BEBBEB) # ff t 4t 3-AP

Z K%

FAES Tdpsb i e &80k, %A RMAEG, 324 ThueMorse #3184 &, L P HFhf@efey T =
1843 B R Fea B o B B @45 F 4 (3-AP) é’JJrgL%EQ@*%c FPAERE PR T R BT

WP 2 AT Fabst, A RBEERN B F—EARMERIENEERLFE D ﬁﬁ)ii‘;i
oy M(B), HiFfest Koy S-AP Bk

APOBY) = ¢ 2BE - (|BR - ARBE) )

1 ., 1 /1 AP (BB)
= 51M(B)] —5(—|B— 5 )MP(B)

4
SAERMERBANEEE T RAY B RQEHE R FH, LA RARE S
APy (BE|BB) — %BQ

BAAEEGR, RE@RR2E, L 3AP Miwet 8 B ey N EAM, 28 (B AH. LA KE
2 ER2RE FoAERERR, BAFEEE — /ey 8 Thue-Morse F & M, (B) ¥4y
3-AP s, 3348 4 95T Uk 18 00T 3R $Ok &R
F(n,m,p,q)
= (@7 =2 2 I+ ((m —n(n+4) - 277+ (n(n — 2) —m) - (~1)7.27%)

s 2=q<p o
AFs(M,4(B)) = F(|B|, APs(BBEB),p, q).

s l=g<p

APy (M1 (B)) = F(|B|, APs(BBBB), p,q) — % (APS(BBBB) — 9. APR(BB) - %BZ> .
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e O=g<<p

APs(Mpo(B))
=4“W¥+éﬂwM1H5HW”+iSBH4m+%22%)

1
+E(3|B‘ — 4@1 + 6@2 — 2&3)(*1)10,

B ay = AP(B), a3y = AP;(BBB) B a3 = AP3(BBBBBEB).

EEERGREA LG CHFRE AR, EAREGEEBE 3AP S AKX BB HFad —&
bR, M4 AEE ey R

1
F(|B‘7m7p+ 17Q+ 1) o QF(‘B‘7m7p7 Q) - 5((21071 o 2qjl)‘B|)2

XAREA—EHR B ey REM, R B ehREA M KT, &7 F 5 R 88 e o E 3 E) B &
MAkEeyFE e, & AP Binedi 88 B A&, R €% |B) FH. @AM EEAE
HAT AL, S Al — SR, A A ERT. BA SRR, R RmsEe T ALl
#
- R REE RN A AEIERR RSN E A B AR S n T m B T 5k,
MPEHPERERARRAZ LAY, ~HESAALER, BFEFHRITLE KRBT WL
F T &R, REFRE, FHAER, REAER —ETUHELLRF 2 FRaGBEHR LI,

&
E,
+ R ]
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